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What reactant produces the following products?  ZnO  +  H2O  +  CO2
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2. What is the molar mass of Zn(NO3)2? 


3. Which of the following compounds is insoluble? Pb(NO3)2, AgBr or Ba(OH)2  


4. Name an acid that has a phosphorus in it.


5. Which of the following has a molar mass of 71.8g?  

AgCl or FeO or H2SO4?  

6. Complete the following reaction and balance the equation. 

Fe2(CO3)3 + H2SO4  





7. Which of the following contains the same number of molecules or particles?

a) 1 mole of nitrogen gas

b) 2 moles of lithium

c) 7g of lithium

8. Name a base that has a 

· hydrogen atom in it.


· Carbon atom in it.

9. List factors affecting rate of reaction. 


10. Explain how concentration increases the rate of chemical reaction.



11. Balance the following reaction. 

Zinc hydroxide and nitric acid


12. How many moles of oxygen atoms are there in 1 mole of Ca(OH)2? 

13. How many particles of hydrogen atoms are there 3.5 moles of hydrogen gas?


14. Find the number of moles in 4.5g of magnesium oxide. 


15. How many moles are there in 37g of acetic acid (CH3COOH)? 


16. How many moles of hydrogen atoms are there in 37g of acetic acid (CH3COOH)?


17. 30g of MgCO3 and 30g of CaCO3 have the same number of particles. Do you agree with this statement? If not, state why. 


18. A lab technician reacted 5g of iron carbonate with hydrochloric acid. He then repeated the experiment with 5g of powdered iron carbonate. 

a) will he have the same products? 

b) What gas is produced?

c) What salt is produced?

d) Will the same amount of gas be produced per minute?

19. A villager wanted to burn wood for his furnace to keep warm.  He added ethanol to the wood to burn faster.  What type of factor affecting rate of chemical reactions does this exemplify?

20- Balance the following chemical reaction.

Al    +     H2SO4  
  

Al2(SO4)3    +    H2 

A- 
2Al    +     3H2SO4  
  

Al2(SO4)3    +    3H2 

21- Complete the following chemical reaction.

Al    +     H2SO4  
  

______________    +    H2 

A- 
2Al    +     3H2SO4  
  

Al2(SO4)3    +    3H2 

22- Complete the following chemical reaction.

Zn    +  _________  
  

Zn3(PO4)2    +    H2 

A- 
Zn    +  H3PO4  
  

Zn3(PO4)2    +    H2 

23- Balance the following chemical reaction.

Al(OH)3    +     H2SO4  
  

Al2(SO4)3    +    H2O 

A- 
2Al(OH)3    +     3H2SO4  
  

Al2(SO4)3    +    6H2O 

24.  Write the name and formula of the salt formed.

	Reactants 
	Name of salt
	Formula of salt

	Copper(II) and nitric acid
	Copper nitrate
	Cu(NO3)2

	Lead oxide & hydrochloric acid
	Lead chloride
	PbCl2

	Calcium carbonate & acetic acid
	Calcium acetate
	Ca(CH3COO)2


25. Correct the following formulae if necessary
Iron II carbonate


Fe2(CO3)3

___________________

Potassium iodide


KI2


___________________

Tin II oxide



Sn2O


___________________

Calcium hydroxide


CaOH2


___________________

Sodium hydrogencarbonate

NaHCO3

___________________

Silver carbonate


AgCO3


___________________

26. Write ionic equations for any precipitation reactions produced from the following: 
a. Pb(NO3)2 (aq)  +    NaI (aq)       

Pb+2 (aq)    +   2 I- (aq)                                                PbI2 (s)
b. MgSO4 (aq)  +   (NH4)2CO3 (aq)  

Mg+2 (aq)    +   CO3-2 (aq)                                           MgCO3 (s)

c. AgNO3 (aq)  +    KCl (aq)      

Ag+ (aq)    +    Cl- (aq)                                                AgCl (s)

END
Zn(HCO3)2





189.4g/mol





AgBr





H3PO4





FeO





Fe2(CO3)3 + 3H2SO4        �     Fe2(SO4)3  +  3H2O   +   3CO2     





     a and c





NH3, Ca(HCO3)2, Ca(OH)2





MgCO3, NaHCO3





Concentration of reactants; pressure; temperature; catalyst; nature of reactant.





By increasing the number of reactants there are more opportunity for reactants to collide against each other at the right orientation.





Zn(OH)2   +   2HNO3  				Zn(NO3)2  +  2H2O





2 moles





n = N / 6.02x1023  therefore, 3.5 = N / 6.02x1023 ;  N = 3.5 x 6.02x1023  = 2.11 x 1024


particles of hydrogen gas. Since there are two hydrogen atoms in one hydrogen gas molecule, we multiply the answer by two.  2.11 x 1024 x 2 = 4.22 x 1024 particles of hydrogen atoms.





n = m / M  


   = 4.5 / (24.3+16)  


   = 4.5 / 40.3 


   = 0.11moles of MgO





n = m / M


   = 37 / (12+3+12+32+1)


   = 37 / 60


   = 0.617 moles 





n = m / M


   = 37 / (12+3+12+32+1)


   = 37 / 60


   = 0.617 moles 


Since there are FOUR atoms of hydrogen in ONE particle/molecule of acetic acid, then there should be four times the number of moles of the acid.  Therefore, 


n(H) = 4 x n(CH3COOH) 


        = 4 x 0.617 


        = 2.468 moles of Hydrogen atoms.








Having same mass does not necessarily mean equal number of particles, since atoms have different mass numbers.  


E.g. 5g of water = 0.278 moles of water = 1.67x1023 particles of water, whereas, 5g of carbon dioxide = 0.114 moles of carbon dioxide = 6.84x1022 particles of carbon dioxide.  





Using n = m/M to convert mass to moles, then n = N/6.02x1023 to convert moles to number of particles. 








